SuMPO EPD SUMPORIESNILTOIS s

SEME’OD B A EE A S RTINS

.0 ,,,,, 1T NEBEEE (EPD) TR RERAME1-14-8

MELEED KANDA SQUARE GATE

%ﬁ%% : JR-AI-24424E https://ecoleaf-label.jp
HS5—LEDHE A1

4—-in—1 Golour LED Printer

brother
at your side MFC-L3740CDW -+, Europe

J5H—I ##x=%t / BROTHER INDUSTRIES, LTD.

brother
3
r ™
HEH( BRES JR-AI-24424E
W1 BE D EAPCRES  PA-590000-Al-08
PCR% B A H g [ 8hk]
HENRERPE NS 202543 A 26H
WS i&E IR a1 RIALEMEA  202543814R
FEATRIERE, £, B, ER - HREE, RIEA R VATLFEEA R
BEE- VY10 RIEES JV-AI-24424E
REEEEAR 2030438138
HAOB, TELK-F#Ex PCRLE1-DETE
A= : MFC-L3740CDW RERE 20235 98 1H
-BEH(EPAT) ZER #mlF Ex
A5 (— R EIEAY A7 TR E )
-ENRIEEE : 18ppm (A4) B=HIRE
-BRARETIR A4 NEPREEE B RRIE
-7°Uyb L /240 Y/ FAX/ B BV EENRI/ADF
B/ ERRLAN ISO14025(ZHE 2T AR E & R UT -5 OIIZ LIAREE
AKEE : 20.1 kg, SEAth 1 3.5kg ORER WAHEB
*YAT LRIER I EEHNORTEOH AL, YATLARIET-LBERD
XA RILEuropettMITTY, AEERH.
FLWEbhEk
IIY-T KA
inml-ecoleaf-jimukyoku(at)brother.co.jp https://global.brother/ja

Bi#RES 1 JR-Al-24424E


https://global.brother/ja

SuMPC

EPD

1APAN

VERIFIED

SuMPO EPD
1T NBRBEES

(EPD)

BHRES ¢ JR-AI-24424E

O517Y1 )V R E T lifa R

SUMPOIRIESANINTOI S s
—MALEEAYRATFIINR EHEE R
R AEXAMHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

OHEERHRICEITZEMIER

EREMEDOEERE (SFUA)

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 530 | kg-CO2eq
ok
2L 035 | kg-SO.e
Rl g-80zeq T
HERHE 0.024 | kg-Sbeq
= OFH#:E = Qi = Qi
=@M TR = OEE- YA
AR IHH| EfI aF ORMETE QX%E Qi |oEm-wrEE ORE-UFIL
SUEZE IPCC 2013 GWP 100a| kg-COzeq | 53E+02 | 1.7E+02 | 1.6E+01 1.4E+01 29E+02 | 3.9E+01
7y (e kg-SOzeq | 3.5E-01 1.4E-01 1.6E-03 1.2E-02 1.7E-01 1.8E-02
BEREE kg-Sbeq 2.4E-02 1.6E-02 4.1E-05 5.8E-05 7.2E-03 9.7E-06
@ 5 4R MR RUMEICBIT 248
1EH B mE-mE (ERHS) Bifi
FEERRER 2.3E+01 kg L 5.2E+00 kg
FFETRIRIF- 7.8E+03 MJ Sus 4.9E-01 kg
BLERREER 5.9E+01 kg FIIZUA 3.5E-01 kg
BEARIRIF- 1.8E+02 M) otERE 4.2E-03 kg
WIKDEE 5.8E-01 m3 T32F9Y 1.2E+01 kg
i 1.6E-01 kg
A3 6.8E-01 kg
- A 2.6E+00 kg
& [E IR EAR 7.6E-01 kg
Z0ft 1.1E+00 kg

EEHEPH). EEMFRARM 5. £EERIARER : 48,6008, EIRLRIESE (J\F—>)
EIRIFRIEIRIBERICSER, BRAULEIFRIILF-RSY-TOTS5 A Ver.3.0. A& (EEuropeftmlF

: ISO/IEC 19798

©-1.ZDMDIRIFRIE IR

AREBOEITEEE T B RO N -ROBAAREERISO14001 BEEEHFITIHLTITOHNTNET,

OFERALEZRT-9DEXS

IDEA v2.1.3% U'SUMPOBRIEIAN FOJS5 L& $RIR B v1.18%E A LT,

®fE

@7 -YEENHEL. PCRELVEE - EEMBELSBL TS,
OLLRIDOVNTL, BE - EERBICREINEZHFERELEGELLAIRDONEEA,
(BBB%URL : https://ecoleaf-label jp/regulation/)

[
&
BH
djo

- JR-Al-24424E



